Chapter 9

Hypothesis Testing

  


True/False Questions
1. A Type I error is rejecting a true null hypothesis. 
True    False

2. As the level of significance increases, we are more likely to reject the null hypothesis. 
True    False

 3. The larger the p-value, the more we doubt the null hypothesis. 
True    False
4. For a hypothesis test about a population proportion or mean, if the level of significance is less than the p-value, the null hypothesis is rejected. 
True    False
Multiple Choice Questions
5. The _____ hypothesis is not rejected unless there is sufficient sample evidence to do so. 
A. Research
B. Alternative
C. Null
D. Chi-square
6. If a null hypothesis is rejected at a significance level of 0.01, it will ______ be rejected at a significance level of 0.05. 
A. Always
B. Sometimes
C. Never
7. A recent study conducted by the state government attempts to determine whether the voting public supports further increase in cigarette taxes. The opinion poll recently sampled 1500 voting age citizens. 1020 of the sampled citizens were in favor of an increase in cigarette taxes. The state government would like to decide if there is enough evidence to establish whether the proportion of citizens supporting an increase in cigarette taxes is significantly greater than .66. Identify the null hypothesis. 
A. p ( .66
B. p > .66
C. p ( .66

 Short Answer Questions
8. When 100 randomly selected car owners are surveyed, it is found that the mean length time they plan to keep their cars is 7.01 years, and the population standard deviation is 3.74 years. Calculate the 
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value for this test statistic to claim that the mean years for all car owners is less than 7.5 years and determine if the null hypothesis can be rejected at 
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9. Based on a random sample of 25 units of product X, the average weight is 102 lbs., and the sample standard deviation is 10 lbs. We would like to decide if there is enough evidence to establish that the average weight for the population of product X is greater than 100 lbs. Assume the population is normally distributed. 
(a) Set up null and alternative hypotheses for this test.
(b) Find the value of the appropriate test statistic. 
(c) Find the critical value used to test the claim at ( = .05.
(d) Make a conclusion.
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value for this test?
11. A fast-food chain has just developed a new process to make sure that orders at the drive through filled correctly. The previous process filled orders correctly 88% of the time. A sample of 100 orders using the new process is selected and 92 were filled correctly. At the 0.01 level of significance, can we conclude that the new process has increased the proportion of order filled correctly?
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